NAME

Quiz 2 |

[MATH 101: FaLL 2020

You are allowed one page of notes and a calculator. No phones. More than 25pts to earn. your

answers for full credit and show work. Thanks!

Problem 1: (4pts) Solve (2$ +y=9 )
+ 3r—y=-—4
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Problem 2: (4pts) Solve g‘z i gg Zg . :—j 35 ({:_j:: Z:Zj i ;((;j

Hen e,

(ISx +209Y = 3aA$
~\isx + 189 =at

1 =—3 =R=-U
%/ 3X+9(1)=5

U
3IX=6+Y =9
IX=9
X =3

Problem 3: (2pts) Determine if (1,2) is a solution of the system of equations: i :l: 3&!/ z g
\N(ﬂ/ X=1,9=2 means Xty = H2=2 (3""‘[/
X-9 =1-3=~[ 7 2 (bad) . Thug ne (L2)
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Problem 4: (2pts) A fence is made such that its width is twice its length. In addition, the fence 1s
constructed with 43 ft of fence. Find the length and width. Hint: let the length be x and
the width be y, find two equations and two unknowns which z and y must solve.

— ==
per{mzkr = 2X+729 -::q;@

Subshive @ ish @ 4o obfuin X+ A(AX)FIZ =2 Ex = Y2
Mws x = 9% o W=2(%) =%

Cenf/ﬁ’: 13 £t and wih = B4 —ﬁfj

Problem 5: (3pts) Find two linear equations whose graphs are the lines given below. Also, verify the
intersection point of the lines solves both equations.
Ty

S — © hes 9 -inkercpt b =0
) /@ Slope = = Hawg
; X - X
8 6 -4 2 2 k ‘/ ’ \é ‘)é‘
2 "

@ has  x—intercept of 6
Haws Y = AXx—6)
\G) then U =-—-6 whon X' = 6

—6 = -6-€
From % ol %% T find, i\ E‘VM (7/ )
= -z = /&

X +4% =0
fo-w = ej - 9= %(x"g)K*

Is (3,-2) a sel? 7 (reedly THe sul':)/
2+(’z)—.'=/c> wnl W A-AR) =6 . Yer
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Problem 6: (2pts) Let P(z) = 2z% — 3z® + 7. Calculate P(2) and P(-1).
Pa) = alay-3@)+7 = l6-i2+72 =111
P(-1] = A1) -36)°+F = —a-3+7 =[]



Problem 7: (7pts) Factor each polynomial below completely over R,

(a) z?—37 = xZ~ éﬁ?—)z = (><~ﬁ)(x"‘(37).

2
(b.) 322+ 6z+3 = 3 (x"'{— AX +1) = B(X+)(XH) = 3(X1)

(c) 2?—1lz+5 = (@X =1 )YX=5)

@) 442 = X2 (X +Y)

Remember = N -8 = B-8)(A%AB+R") , vt A=X, B8=3
(e) *~21 = x3-3" = (x-3)(x°+3x+9)

Nake . B-yac= 9-vU)lY=-3F<0
Lo xz-/- X + ¢ ir fffcc[umusz.,

(f) z* -81 = (Xz)z._. qz
= (X*~q)(x*+9)
= (X-3)(x+3)(xX+9)

(g) 2t —522+4 = ()(z._. \ )(Xz._. L[)
= (X=D(x+)(X —)(X+3)




Problem 8: (2pts) Complete the square for f(z) = 22 4+ 6z — 20 and factor f(z) completely.
fix)= x*+ 6x — 20

(x+ 3)1 -4 -20

(x+3)" - Q9

(X+3- J2q) (X +3+JZ7)

1

1]

1]

Problem 9: (1pts) Solve z2 + 6z — 20 =0

(%¢7-77) (x¢3+ 477) = 0

= X+3—-Jz2¢ =0 o Xt3+4Jz9 = (

]x-_—__.'gj—_\j'z“éj

Problem 10: (3pts) The disciminant for f(z) = az® + bz + ¢ is b* — 4ac. Calculate the discriminant
for each f(z) given below and factor f(x) over R if possible.

(a.) > +4z+5 a=t(, b=Y c¢c=5
b*-Yac = (6 - Y)s) = 16-20 = —Y< @
hena xZpyx +S i irededl over .

(b.) z?+ 10z — 13 a=1, b=lo ¢=-I3
2 g : Foch,
b* - Haec = (60 =Y(1)(~17) =15L> 0 = Cen Baw

X ox-17 = (X+5)°-_5-13
= x+5)°—38 = (X+§ —J3g)(X+S+V7¢)

(¢.) z?—6z+9 = (X -—-—3)()('3/
Gnd a::l/ b=~6lc:9
b2-Yac = (- 6)'=1(1)(9) =26-26=0.
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Yep. I+
wes a repeeted
fochor wo expedted.



